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Rifles Examination 2024
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Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning
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Section : Part-B-General Knowledge and General awareness
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Section : Part-C-Elementary Mathematics
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| Q1 Improve the underlined part of the sentence. Choose “No imbrovement’ as an answer if the sentence is erammatically |

Improve the underlined part of the sentence. Choose ‘No improvement’ as an answer if the sentence is grammatically
correct.

The cakes was for her birthday.

Ans X1 cake are for
" 2. cake is for

X 3. No improvement

X 4. cakes is for

Q2 Choose the word that is opposite in meaning to the given word.

Advantages
Ans X 1. Adjourns
X 2. Refuges

" 3. Minuses
X 4. Boons

Q3 Select the incorrectly spelt word from the given sentence.

Retail outlets are closing down, so the customers are left with no other choise but to make online purchase.

Ans X 1. purchase

< 2. customers
X 3. Retail
« 4. choise

Q4 Select the most appropriate option for the given blank.

The team children on proper safety procedures.

Ans X1, education

+ 2. educated
# 3. educate

X 4. educating




Ans

w2 prSeteet the sentence with no spelling errors.

+ 1. When placed on the column, each ring slid down to its correct position, if possible.
X 2. When placed on the column, each ring slid down to its correct position, if posible.
# 3. When placed on the column, each ring slid down to its corect position, if possible.

X 4. When placed on the colum, each ring slid down to its correct position, if possible.

Q.6

Ans

Improve the underlined part of the sentence. Choose “No improvement” as an answer if the sentence is grammatically

correct.

I want to loose weight, yet I eat chocolate daily.

X 1. No improvement
X 2. lose weighted

« 3. lose weight

X 4. lost weights

Q.7

Ans

Choose the most appropriate antonym of the underlined word.

For twenty vears you hold an innocent and virtuous woman under an infamous suspicion.

2 1. Moral

+ 2. Unethical
X 3. Blameless
X 4. Righteous

Q.8

Ans

Select the most appropriate option for the given blank.

I don’t know why he suicide despite being born into such a wonderful family.
X 1. obligated

+ 2. committed
X 3. pledged

X 4. executed

Q.9

Ans

Select the incorrectly spelt word from the given sentence.

And with modern technology. it would be possible to distribute lesure justly without injury to civilization.
X 1. Possible
X 2. Technology

& 3. Distribute
« 4. Lesure




Ans

w0 préhoose the idiom/phrase that can substitute the highlighted group of words meaningfully.

I feel they are watching me too closely and making me feel uncomfortable in the new college.

+ 1. Breathing down one’s neck

X 2. In the dark
X 3. Breaka leg

# 4. Run out of steam

Q.11

Ans

Select the most appropriate meaning of the given idiom.

Shot in the arm.

X 1. To take a chance.

+ 2. Something that lifts your spirit.
X 3. To hit someone.

X 4. To reveal what you really think.

Q.12

Ans

Identify the segment that contains a grammatical error. If there is no error, select No error'.

You could see / they were being careful as hell / not to drink up the minimum fastest.

X 1. You could see
« 2. not to drink up the minimum fastest.

X 3. they were being careful as hell

X 4. No error

Q.13

Ans

Find the part of the given sentence that has an error in it. If there is no error, choose *No error’.

Each and every one of them want to discuss the post production amount.
+ 1. them want to discuss

X 2. Each and every one of

/< 3. No error

/< 4. the post production amount.

Q.14

Ans

Improve the underlined part of the sentence. Choose ‘No improvement” as an answer if the sentence is grammatically

correct.
He had chop the onions on the cutting board.
X 1. chopping an

X 2. No improvement

« 3. chopped the

X 4. chop the




WP préfﬁﬂbﬂﬁf the segment that contains a grammatical error. If there is no error, select Wo error’.

In the afternoon we walk in the Parks; / and I wondered who shod all the horses there, / and wished Joe did.

Ans X 1. and wished Joe did.
+ 2. In the afternoon we walk in the Parks;
< 3. No error
X 4. and I wondered who shod all the horses there,
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter
hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yicatan
Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) info the atmosphere and (5) the planet.
SubQuestion No : 16
Q16 Select the most appropriate option for blank(1)
Ans 1 indicate
X 2. sign
X 3. prevaricate
< 4 intimate
Comprehension:
Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter
hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan
Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) into the atmosphere and (5) the planet.
SubQuestion No : 17
Q17 Select the most appropriate option for blank(2)
Ans X 1. spell
« 2. period
X 3. span

X 4. space
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Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust
cloud that would have (4) into the atmosphere and (5) the planet.

SubQuestion No : 18

Q18 Select the most appropriate option for blank(3)

Ans 1 to
X2 in
X3 of
X 4 for

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.
Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust

cloud that would have (4)  into the atmosphere and (5)  the planet.
SubQuestion No : 19
Q19 Select the most appropriate option for blank(4)
Ans X 1. raise in
X 2. rise in

« 3. risenup

X 4. raised up

Comprehension:

Read the passage carefully and select the correct answer for the given blanks out of the four alternatives.

Several lines of geological evidence (1) that an asteroid that was as much as 10 kilometers (6 miles) in diameter

hit the Earth at the end of the Cretaceous (2) . This evidence includes an ancient impact crater in the Yucatan

Peninsula of Mexico that dates (3) the time of the extinction. The impact would have produced an enormous dust

cloud that would have (4) into the atmosphere and (5) the planet.

SubQuestion No : 20
Q20 gelect the most appropriate option for blank(5)
Ans X 1. fenced

X 2. captured

X 3. walled

" 4. encircled

Section : Part-D-Hindi
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X1 3EFE Y 3UR Uit e
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X 4. Sy GHE DI giad o

Q.2

Ans

frrafafea aeg 7, 38 aeary & 9ganfae e Amet @ defoa syfear g afE 15 o 78 7
o e g 7E T g fie
e T T 3t Tog & T/ F IETT FT TATT Fr S5l F O off FE X TFar B

X1 @ e A8 7

v 2 o o off 1T = WhaT &

X 3. T Ig=Nel T AT FT SgadT
x4 Rfeg =afFa T 3k Tog & 5

Q.3

Ans

frafof@e v &, fow 717 ax Reredt & &, 37 fwe &1 797 #{ 3 fow 717 gy & s #r
IS T U Ted LT 2

Hleh SAHTAT
« 1. HJHTE SHTAT

X2 fe@rar &Lar
X3 g Y g
X 4 sz g

Q.4

Ans

f3U 7T TTeg 1 fA@H e 1 SIS
TS

X 1. IR

K2-1;|1—_E’[

v 3 - d

X4 Uh




Ans

R prigfafad uy 7, IR faeedl § ¥, 39 fddhed &1 909 &3 ol IS # 37 71U Wse & yaigard s &f 9et

faped T € |

gl i fpdfi ool Qe v 39 fad &l &9 el ugar 9fey]
X 1. Holld

2. Qﬁﬁ

X 3. gRgN

x4 Raet

Q.6

Ans

m=fef@a a=r 7 Wfea arr F v wF ards aeg 79 fifew)
Saol SIS 2T I YUl Fid ¢

X 1. HTFULAT

X 2. sy

v 5 TFER

)

Q.7

Ans

Fafied Uy § IR [APedl 7§ U, 39 [doed &1 999 & o Nad =IF & 0 It WifelT &4 arar fdeed gl
JTH IR aR AR W@ &

X1 BUR
X2 Dgl
X3t

o 4 E‘@

Q.8

Ans

T 99 &, 91 eedr § ¥, 38 Tal [9%cT F 907 T A IFAeT F o T e &1 SaeT

el
e ae F1 Aty == aer

X 1. qOTTe
X2 gade
X 3 OreT
v ¢ gieErdr

Q.9

Ans

T 91T =g # @feg oeg F d=9 e AT HIT=T|
Tg ITT FC & oIEF g

=

v =T
X2 =T
X 3 BT
X4 FAT
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faw]
X1'W|Wﬂ
v 2 @eHmd
X3.Eb—g‘f
X4.5ﬂ:[

Q.11

Ans

FafeRad uy ¥, IR [dwedl U, 39 el [Adhed P 99 &3 Sl A=l & (¢ U Xsa ol 314d [ddhed gl
A e HIoH

v Frfem

X 2. qﬁ@j‘a

X3 FRIR

X+ HAY

Q.12

Ans

few e faseal § O g ad aTd fddhed &1 909 & |
X1 IR IH HH I ¢4F TR g

X2 38 9 of RYyfd die =gl 4t

v 5 FAHH T a1 Hifd 18|

X 4 gl B HIGIT 23T 7Tl &

Q.13

Ans

foT 717 I # [@ifea 2Teg FT Tc@H U AT SIaT|
UE W aeT A5 F

« 1. Gl

X2 T

XS.a-iaq-

X4.Eia-,ﬁ-

Q.14

Ans

f3U U g1 o Wifhd e H1 faaM Usg 1 HIOT|
STeR XId ga1 58 W@l ¢ |
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